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@Zc*]:
ÎZßV»�Z[�b Óx�VÐ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

ÑiòìX
ÑiòìXCÙÎZwÆa ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1

/V6,�ìX (200) ~WJÎZÑ]�XZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa
/V6,� (500) ~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa ìX

zZzw
1 : ÎZw

'''''ìX Best Case Time Complexity Å Heap Sort (i)

None (d) (c)   (b) (a)

''''ìX Worst Case Compexity Å Cocktail Sortþ (ii)

None (d) O(n3)  (c) O(n2)  (b) O(n) (a)

Hì? AVL Tree (iii)

A tree which is balanced and is a height balanced tree (a)

A tree which is unabalanced and is a height balanced tree (b)

A tree with three children (c)

A tree with almost 3 children (d)

HZzgYVì? Application » Red-black Trees Zy~Ð (iv)

Used to store integers efficiently (b)  Used to store strings efficiently (a)

None (d)  Can be used in process schedulers, maps, sets (c)

'''''ìX Time Complexity Å Prim's Algorithm (v)

'''''ìX Time Complexity Å Tarjan's Algorithm (vi)

Å¢zg]�CìX Arrays �äÆaÄ Implent Ã Boyer Moore Algorithm Æ´z{ Text Zzg Pattern (vii)

None  (d) 3  (c) 2 (b) 1 (a)
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'''''ìX Worst Case Time Complexity Å Rabin-Karpalgorithm (viii)

Ã�Ûn�D�ñZy~ÐÃy�9ìX p! = Np (ix)

(b) Np-complete = Np (a)

p=Np=coplete(d) Np-hard=Np (c)

Ðmg�rìX Class ÃyÏ Travelling Salesman Problem (x)

None  (d) Linear (c) Np (b) p (a)

z�zx
ÙX Sort Ã Array ÃZEw�D�ñ��� Shell Sort .2

34  56  75  3 98 29 37 72

Hì? Complexity Å Shell Sort

ÙX Sort Ã Array ÃZEw�D�ñ�b� Radix Sort .3

82  901 100 12 150 77 55 23

Hì? Complexity Å Radix Sort

HìXZkÃVwÆfg=��X Decision Tree Algorithm .4

�Ø Resultant Binomial Heap ÙZzgZk»  Run ó Biinomial-Heap-Union Procedure 6,Binomial Heaps �b��z .5

¥xÙX Order of Paranthesization » Optimal Chain Multiplication » Matrices �b�eg .6

A1 = 5x4,  A2=4x6, A3=6x2, A4=2x7

Largest Common Subsequent (LCS)» y Zzg x Ô z óZ¤/ z= LCS(x,y) Zzg y=<b,a,b,b> ó x= <a,a,b,a,b> �b� .7

¥xÙX z ÃZEw�D�ñ Dynamic Programming Approach ìÂ
Ã�Ù Pattern p =26~ t = 3 1 4 1 5 9 2 6 5 3 5 8 9 7 9 3  Text ~�b� String Matching Modula  q=11 .8

�}ÇX (Encounter) »£¨ Spurious HitsÄ Rabin Karpmatcher �ñ
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Æ!*g}~,ÐcÙX Np complete Zzg p, Np, Nphard .9

zÎx

Æ!*g}~��X Rotations Ã�b� Splay Tree Æ!*g}~,ÐcÙX Splay Tree .10

Zig-Zag Rotation (c) Zag Rotation (b) Zig Rotaton (a)

Zag-Zig Rotation Zag-Zag Rotation Zig-zag Ration (d

ÙX Sort Ã Array ZEw�D�ñ�b� Coctial Sort Åz�s#ÙX Cocktail Sort .11

5 3 1 4 9 8 0 2
ÉÀ�/õGX Algorithm » Shaker Sort

¥xÙX Prefix Function» Pattern tcÙZzg�b� KMP String Matching Algorithm .12

a  b  a  b  b  a  b  a  a

Å Approximation Algorithm Æ!*g}~,ÐÉÀ�/õGX Aproximation Algorithm Zzg Randomized Algorithm .13

Zq-Vw�ØX
ZÏgíÉÀ�/õGX Johnson's all pairs shortest C�X Johnshons all pairs shortest parth algorithm �b�» .14

///
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